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Instruction : (i) Question No. 1 has three parts. Part (A) has Multiple
choice questions, Part (B) has Fill in the blanks and Part
(C) Match the columns. Each question carries 1 mark.

-1 (@ue-31) wal fasmey A fafau . [1x10=10]

(Part-A) Choose and write the correct option :

() Toera =fifa =1 fagra afaarfea foan -

(37) e wiHaa™ (7) arE RSt
(7) e Fared (3) e el
Who formulated the Doctrine of Lapse?

(a) Lord Cornwallis (b) Lord Dalhousie
(c) Lord Clive (d) Lord Wellesley
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[2]
(i) 1668 . H WGl 1 STIAT UGl HRE el Tt fomam o ?

(&) g (&) hIciihe
(7) dife=d (3) Herehal
In 1668 AD, where did the French establish their first factory?
(a) Surat (b) Calicut
(c) Pondicherry (d) Calcutta
(iii) STARERT (=gATh) H ST FHIS hl TATTHAT 1
(87) Tl faehr= |
(&) <vorEs foaamrR |
(¥) <FFe Tl |

(3) W Y=ae 2ewe °f A

Who founded the Vedanta Society in New York, United States
of America?

(a) Swami Vivekananda

(b) Ishwarchandra Vidyasagar
(c) Dayanand Saraswati

(d) Sir Syed Ahmed Khan

(iv) GfeTa ofer sr<rer ford & § et T ?

(37) 1930 %. () 1942 %.
(9) 1940 %. (%) 1950 %.
Civil Disobedience Movement started in :

(a) 1930 AD (b) 1942 AD
(¢) 1940 AD (d) 1950 AD

(v) TGS HSId o o1 HiIH | Teh & T
(87) T TA-TRA Td
(&) A Geme 3Teft-HielHT Sitehd STeft
(T) M Wi-Jewg oFelt f=

(%) =9 9 FE &l

What united in Congress after the Lucknow pact?
(a) Naram Dal-Garam Dal

(b) Moulana Mohammad Ali-Moulana Shaukat Ali
(c) AgaKhan-Mohammad Ali Jinnah

(d) None of these

M-40A



[31]

(vi) TRTYRA FTel H &R o 30T &7 I gl STl o

(vii)

(x)

(37) Wik hIeTeA (&) e
(9) <R (3) T8 9 & =
In Mahabharata time, the Aranya region of Bastar was called :
(a) Prak Kaushal (b) Kaushal
(c) Kantar (d) None of the above
1857 <t ShIf= o1 e o1 :
(37) A (=) =gt
(%) feeed (%) WL
The center of 1857 Revolt was :
(a) Merut (b) Jhansi
(c) Delhi (d) Raipur
(viii) F9 & | -9 <9 GRaq IRug o1 Tl 9es 81 § 2
(37 iR () &4
(7) foea (3) ST
Which nation is not a permanent member of Security Council?
(a) America (b) Russia
(c¢) Britain (d) Germany
(ix) Hom SATNfiTn shifd g8 off
(37) oHfem o (&) <M H
(@) St (3) $cied
First Industrial Revolution was occurred in :
(a) America (b) Japan
(¢) Germany (d) England
AR o fohereht STfashR foha o ?
(37) et = (&) eftfarsH o
(g) (3) s a1

What did Marconi invent?
(a) Radio (b) Television
(c) Torch (d) Bulb
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[4]
(@ue-9 ) e wEl =6t gfd ife
(Part-B) Fill in the blanks :
() T TIFG FEE A IR A i T —— IR H H |

Swami Dayanand Saraswati founded the Arya Samaj in the
cityof .

(if) Tooa gurenl 7 {98 991 i T&aT —— 91 5 61|

Sikh reformers established the Singh Sabha in the year .
(iif) T —— H YRA BIET ST TS o GRI =T 747 |

Gandhiji started the Quit India Movement in the year .
(iv) eHEE —— Bl AT AT |

Laxmibai was the queen of .

(v) TEee —— < 1 M@ 1|
The country ruled by Hitler was .

(@ue-1) =Y Gili‘@.q :

(31) ()
(i) o s - ThiE ¥ gEied
(if) FaH - 13 378, 1919 .
(iii) iferatare s - 3T, 1994 %,
(iv) 1789 i ShIf= - Tl S Sl
(v) <o s § Tag Aifd ot - e Sie™
(Part-C) Match the columns :
(A) (B)
(i) Arya Samaj - Related with France
(if) Satnam - 13th April, 1919
(7ii) Jallianwala Bagh - 3rd May, 1994
(iv) Revolt of 1789 - Swami Dayanand Saraswati
(v) End of racism in South Africa - Guru Ghasidas

[1x5=5]

[1x5=5]
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(i) 9% HH% 2 W 13 9 Afderswd 9 €| TdE I W
2 3k amefed €1 (ST At Afershad Iee-THT 30 =8 ©)

Instruction : (ii) Question Nos. 2 to 13 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

Y9T-2  GHNER-UH O Shigel’’ % YehTeIeh Sl 1Y SdsT | 39 UF & 11y 9
S5 a1 § ford foami o1 9= foRan ? [2]
Name the publisher of newspaper ‘Sambad Kaumudi’. What ideology
did he spread in the society through this newspaper?

UoA-3  fohed e uRa =i o1 ? 39k <1 R fafE | [2]
Why did Cripps Mission come to India? Write at least two reasons.

Ug-4  Soole forcd faame e g 2 [2]
What was Ilbert Bill Controversy?

ygA-5  footeh gR 9eIfed < SHER-T4 & W fafan | [2]
Name two newspapers of which Tilak was editor.

Y9-6 TR ki yidfg 99eEw| [2]
Write about popularity of Ratanpur.

Uga-7 T YA FAR ? [2]
What do you mean by Guri Practice?

Y9-8 A h SAaehRe B o ? [2]
Who was the inventor of Telescope?

U9a-9 o e R fRad grafed o ? [2]
Gabelle Tax was associated with what?

Y9A-10  HHEANHERR i S0 e hi 15 7 [2]
When was Human Rights introduced?

gya-11  TohE 91§ g0 facda 1 =ice P FEisha T&d gafl ? [2]
In which year was the Woodrow Wilson’s Fourteen Points
Statement presented?
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YI1-13

fdor

[6]
T=eiel & < g JaEy |

Write down two principles of Panchsheel Treaty.
A wifa wn e ?
What is Green Revolution?

: (fii) T HHMG 14 W 20 T THREA0E T B | TEE T W
3 3feh eTreifed § 1 (ST 1 Tfehdy IE—HHT1 50 T2 ©)

Instruction : (iii) Question Nos. 14 to 20 are short answer type questions.

UI1-14

YI1-15

YI1-16

wIT-17

YI1-18

Y91-19

Y91-20

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

ARSI HIUES AT S ?
What was the incident of Black Hole?

THFH THYE o i fagr sast |

Write down three objectives of the Ram Krishna Mission.

ayfek 3fiterd i di fersroand s |

Write down three features of the modern history.

WhIGHT shif < =hlg i shor fafey |

Write down any three causes of French Revolution.

T 99 & =gl di9 Il 1 I Hifey s 39 Teheran et |

Describe any three objectives of the League of Nations in which it

got success.

TEMY % 1 gUH HIAC (12 d7) |

Explain the functioning of the General Assembly (any three).

g\ﬁqwﬁr&’mw%?

What is Truman Doctrine?

2]

2]

[3]

[3]

[3]

[3]

[3]

[3]

[3]
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: (iv) U hHIR 21 | 27 Toh STHSTRIT U9 § | Teh U9 H STiafe
forehed | Teh W9 W 5 3k SAmefed €1 (ST ot Afeenad

Yee-HH 1 700 1= )

Instruction : (iv) Question Nos. 21 to 27 are long answer type questions.

Y91-21

YI1-22

YI1-23

Each question has an internal option. Each question carries

5 marks. (Maximum word limit of answer is /00 words)

THT Shif~d ! YTl < RO ! THIAT (IS Tie) | [5]

Explain briefly the reasons for success of Russian Revolution (any five).

34T/ OR

T 1857 1 shifd o TROTET 1 Sooi@ HifeT (HTE gie) |

Write about the outcomes of the Revolt of 1857 (any five).

it & fagr T9smEy (FE 97e) | [5]
Explain the principles of Nazism (any five).

37I4qr/OR
TG ht Tl F ST T THET T | [2+3=5]
Write down the purpose and problems of the Treaty of Versailles.
TAG | hued ST W Fh¥l ST | [5]

Describe the Kandel Movement of Chhattisgarh.

37941/ OR

AW

SAMAE o Tohmgl qTd TIh-I1 Sl UM hifSIT |

Explain any five folk dances of Chhattisgarh.
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T9-25

YI1-26

91-27

[8]
SeTSIelt ohl FgTdeh |Y &1 I HId Y &N TS I 1 Higa o

HITTT | [1+2+2=5]
Briefly describe Wellesley’s Subsidiary Alliance along with its pros

and cons.
3741/ OR
ST | S I YOI 911 € 2 SHh! G916 iy | [2+3=5]

What was Diarchy System of Government in Bengal? Give its influence.

STEER H1ea| 1 9o SISy (12 gie) | [5]
Explain various means of Mass Communication (any five).

37I4aT/OR
T W 1 THI § 2 SEN ° W8T W YhTYl STt | [1+2+2=5]

What do you understand by NATO? Write about its objective and
confederation.

Wil Shifd § el Wid st sTifeleh feafari st waemsu [5]
Explain the economic structure of France before the French Revolution.

37T/ OR

ShiTdeh ] HTEMT % S<F o U] Tl Soid HITT (hiS gie) |

Explain the causes of origination of revolutionary feelings (any five).

¥ gg 1 31 Faid §U IS o HRUN BT AU HiflT | [1+4=5]

Explain briefly about Cold War along with the reason of its origination.
37U4q1/ OR

7 TTEAeRT0T BT SATESIhdl 1 FUF i | [5]
Explain the need for Disarmament.

oooooooooo
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